

PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881



Invoice Number: 131756
Invoice Date: Jun 26, 2012

Page:

1





Customer ID	Well Name/# or Customer P.O.	Payment Terms Net 30 Days	
Shak	Jan <mark>₅</mark> en # 1-36		
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	Jun 26, 2012	7/26/12

Quantity	Item	Description	Unit Price	Amount
168.00	MAT	Class A Common	16.25	2,730.00
112.00	MAT	Pozmix	8.50	952.00
9.00	MAT	Gel	21.25	191.25
70.00	MAT	FloSeal	2.70	189.00
300.72	SER	Handling	2.10	631.51
565.02	SER	Ton Miles	2.35	1,327.79
1.00	SER	Plugged to Abandon	1,250.00	1,250.00
45.00	SER	Heavy Vehicle Mileage	7.00	315.00
45.00	SER	Light Vehicle Mileage	4.00	180.00
1.00	CEMENTER	Andrew Forslund		
1.00	EQUIP OPER	Dane Retzloff		
1.00	OPER ASSIST	Ethan Glassman		
		Plug 10502-117		
		10502-817		
		29		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1941.63

ONLY IF PAID ON OR BEFORE
Jul 21, 2012

Subtotal	7,766.55
Sales Tax	566.96
Total Invoice Amount	8,333.51
Payment/Credit Applied	
TOTAL	8,333.51



ALLIED OIL & GAS SERVICES, LLC 056293

REMITTO P.O. E RUSS	SELL, KANSAS 6766 ———	55		Ser	VICE POINT.	'ele
DATEL 22-12	SEC. TWP.	RANGE 39	CALLED OUT	ON LOCATION		•
LEASE	WELL# / 36		L	<u> </u>	9100 1914	JOB FINISH 10:00 Am
OLD OR NEW C		LOCATION FORCE	E 28 25	<u> 12</u> ε	COUNTY	STATE
and orkitalible		1/25 winte)			
CONTRACTOR	HO #2		OWNER SC	خارون		
TYPE OF JOB	PTA	1000	- OHITEK SCE			
HOLE SIZE CASING SIZE	2/8 T.D.		CEMENT	•		
TUBING SIZE	DEP		AMOUNTORD	ERED <u>280</u>	SKS 696	ð
		TH 24601	4 loget 14	Horsacl	-	
TOOL	DEP			 -		
PRES. MAX MEAS. LINE		IMUM	COMMON /C.	8 SES	@/6,25	2730,00
CEMENT LEFT IN	SHO	EJOINT	POZMIX //	2 5/5	@ 8650	952,00
PERFS.	, C3U,			385	@ 21125	191,25
DISPLACEMENT			CHLORIDE ASC			
	EQUIPMENT		, AdC,		_@ @	
PUMP TRUCK (CEMENTER_And	JANIA FASTUR	Flo-seal	20#		189,00
# 43/	HELPER POR	e Retzloff	·			
BULK TRUCK	_	·			_@	
11 404 1	DRIVER Etha	7 Glassman	<u> </u>			
BULK TRUCK	NA WEN		***************************************		-@ <u></u>	
II I	DRIVER		HANDLING 3	10,219 cife	7 @ 2/12	631,50
			MILEAGE 2,3	5 Tonforte	12,556 700	1327,79
am. I	REMARKS:			•	TOTAL	6021154
505k5@.	2460					
	1650' 840'		-	SERVI	CE	
20 8/2 0	290'					
20 sts 0	60.		DEPTH OF JOB			
	er hole		PUMP TRUCK (EXTRA FOOTA		@	1250,00
			MILEAGE 4/2			315,00
		/ / 	MANIFOLD			<u> </u>
	70	ans you	Light Vehic	Le	@4100	180,00
	hakespeare				_@	
CHARGETO: _SA	narespeare	<u>, </u>				10/10
STREET					TOTAL	1745,00
CITY	STATE	710				
	OIMB	ZII	PI	LUG & FLOAT	EQUIPMEN	T
					@	
					_@	
To: Allied Oil & Gas Services, LLC.					@	
You are hereby red	quested to rent ceme	enting equipment				
and furnish cemen	iter and helper(s) to	assist owner or	***************************************		_@	
	ork as is listed. The				TOTAL	
contractor I have	n and supervision o read and understand	y tpe achinad y a r otaugl aggul où			IUIAL	
	NDITIONS" listed		SALES TAX (If	Any)		_
		_ *	TOTAL CHARG	De 776	2.54	
DD MED STATE	LEWSYNE	Torelle	1			
PRINTED NAME	-13001/11/1/2	TETONE	DISCOUNT		IF PAII	D IN 30 DAYS
6	Julyne -				į.	
SIGNATURE	wyne /	esus				
		•				



PO Box 93999 Southlake, TX 76092

Voice: (817) 546-7282 Fax: (817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881



Invoice Number: 131534 Invoice Date: Jun 12, 2012

Page: 1





Customer ID	Well Name/# or Customer P.O.	Payment Terms Net 30 Days	
Shak	Janzen #1-36		
Job Location	Camp Location	Service Date	Due Date
KS1-01	Great Bend	Jun 12, 2012	7/12/12

Quantity	Item	Description	Unit Price	Amount
175.00	MAT	Class A Common	16.25	2,843.75
3.00	MAT	Gel	21.25	63.75
6.00	MAT	Chloride	58.20	349.20
188.75	SER	Handling	2.10	396.38
40.00	SER	Ton Miles	20.26	810.28
1.00	SER	Surface	1,125.00	1,125.00
40.00	SER	Heavy Vehicle Mileage	7.00	280.00
40.00	SER	Light Vehicle Mileage	4.00	160.00
1.00	EQUIP OPER	Greg Redetzke		
1.00	EQUIP OPER	Kerry Rose	-0'	
1.00	EQUIP OPER	Surface Cement 10 SOZ-S 10 SOZ-S	5 2012	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1507.08

ONL Y IF PAID ON OR BEFORE
Jul 7, 2012

Subtotal	6,028.36
Sales Tax	237.74
Total Invoice Amount	6,266.10
Payment/Credit Applied	
TOTAL	6,266.10



ALLIE OIL & GAS SERVICE U, LLC 053655

Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665					SERVICE POINT:			
						52157/-	<u> </u>	
DATE (1-/7-/1.	SEC.	TWP.	RANGE 74	CALLED OUT	ON LOCATION	JOB START	JOB FINISH	
LEASE 901 200	WELL#	1-36	LOCATION JC	HOTY KON	1. to 2195	COUNTY	STATE	
OLD OR(NEW)Ci	ircle one)		Illello to	SA 210, 13,	to Zoval	Base Ela		
CONTRACTOR	H	D # 1	W 3047	10, 2/400	とって、 ひくタブ	in the		
CONTRACTOR TYPE OF JOB	/ 1	'	lace.	OWNER /	habeaphere	CHA	(795	
HOLE SIZE	121/1	T.D		CEMENT				
CASING SIZE	55/	/	PTH 74-5		RDERED <u>///5</u>	Sha C	land	
TUBING SIZE			PTH		an Gal	7/~/ C)&/	722.	
DRILL PIPE			РТН					
TOOL		DE	PTH					
PRES. MAX		MI	NIMUM	COMMON	175	@ 16.25	- 2.843. ²²	
MEAS. LINE		SHO	OE JOINT	POZMIX				
CEMENT LEFT IN	VCSG.	/,	5 FT	GEL	3	@ 21.25	63.25	
PERFS.				CHLORIDE	6		344. 20	
DISPLACEMENT		15.9	13 832-	ASC		@		
	EOU	JIPMENT				@		
	Dyt	/A4 11A931 1 A	<i></i> ,			@		
PUMP TRUCK	CEMENT	(7,500					
- 1.17	CEMENT	EK	70 20 0					
	HELPER	/	XETTY C					
BULK TRUCK	DRIVER	•	VT. / 101					
BULK TRUCK	DRIVER		Joel M			@		
	DRIVER					@		
If	DRIVER			- HANDLING	188.75	@ 2.10	396.37	
					8.62 x 40	x 2.35	810.28	
Pipera	De Hou	MARKS: سے <u>در</u>	reulste,				4.463.35	
CELLELLT	62 X/1	प भार	d Mix /	<u> </u>	SERV	ICE		
155 C19	200 1	: 3°/z	01 60/0 0	EL DEPTH OF 3	IOB	112	صيــي	
19190100c	WHI	5/5/	43.88/		CK CHARGE	712	25. 90	
- (165)1. H	0/6	3418Kt	- dia CI	EXTRA FOO		@		
HOUT 1a	للآ ـــــــــــــــــــــــــــــــــــ	OCOL	ليل	MILEAGE	Hum 40	— " ·	280.00	
- Plugo	auste	(c)	5:45 0~	MANIFOLD		@		
" "		سست			LUM 40	@ 4.00	160,00	
, ,	, ,	,	11			_ <u> </u>		
CHARGE TO: 1	ho ke	iphere_	0i1 fi 6g	7.			ھن ہے رسی	
STREET						TOTAL	1565,00	
CITY	ST	ATE	ZIP		PLUG & FLOA	T EQUIPMEN	r	
Carol	56			R				
CLOVE	0000			·				
T 111 10110								
To: Allied Oil &								
You are hereby re				••				
and furnish ceme	nter and h	ielper(s) t	o assist owner or			@		
contractor to do v	vork as is	listed. T	he above work w	as				
done to satisfaction						TOTAL		
contractor. I have								
TERMS AND CO				A 1 t 220 mil ve	(If Any)			
	/ 125			TOTAL CITA	ARGES 6.02	%. <u>35°</u>		
PRINTED NAME	$X \mathcal{D}$	10in	Roberts	DISCOUNT	RGES, W.O. &	JE 514 I	D IN 20 D AVC	
7	- 6)	0.1.	DISCOONI	<u> </u>	ir PAI	D IN 30 DATS	